Pre-Calculus 12 Name

4 .4 - Combining Transformations of Functions Block

Today we looked at combining transformations of graphs of functions.

In order to do so, we used our knowledge of translations, reflections, expansions & compressions.

Consider the graph of Y= f(x).
a) Reflect the graph in —qu, -0k igthen shift 2 left  b) Shift 2 left, then reflect in the Y- ARG -
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Does the order of transformations matter? Explain.
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The most general way that we can describe a combination of transformations to a function f(x)is:

y = af (b(x —R)) + K

For this general representation, what affect(s] does each variable have?
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Example #1: For the function, y = 2,/—{(x — 1) list all transformations from y= Jx , then graph
each function on the same grid. Do not use a table of values.
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In which order did you perform the transformations? How do you know this is correct?
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Example #2: Given the graph of y = f(x), sketch the graph of y = —3f(2x — 2) + 1. Listall
transformations (in appropriate order} before graphing. Ci???’ -2 ‘?(?(K“D) + ] oviare Supe
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Example #3: If (4,—3) is on the graph of y =g(x), find the corresponding point on the graph of:

(-2(x+2)) )
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